SUMPOBRIEIANIL OIS I

SuMPO EPD
SEUME;)D e — AL AV AT IR
VERIFIED KANDA SQUARE GATE

ﬁﬁ%% ¢ JR-AI-25092E-A https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BI7ML EIYRR A/N-YavHREH]
FUJIFILM Business Innovation Corp.

- A3 HS—iEaH (FEH)

Remanufactured Product

A3 Color Multifunction Printer

ApeosPort C5570 R (for JP)

Apeos. Apeos OJ. ApeosPro. ApeosPort H&U ApeosPrint (&, BEIMIVAESRZAA IR A OB REIEFEBIETT .
Xerox. Xerox OJ. 8&LUFuji Xerox 0T, KELOVI AT OEEREIEE(ELFEIZETT,

HEHNA BHRES JR-AI-25092E-A
P EFAPCRES  PA-590000-Al-08
PCR#& BRAH IR
HE N SRR 2AFA 20255118218
[ j=2d) O rh et RIEEMEE 2025498308
OEREMEEE QEE @il OFFER - REEA = YATLRREEA
®BEZE- VY1) RILES 2025-FB-EL-027

MREEEZHEAR 2030498 29R
HWRoBRK, TEMLK-Ex PCRLE1-DEHE
A5 : ApeosPort C5570 R EHZ 20234 98 1H

FEMK  NT-EEE EPHR)
ENRIEE £/40 55ppm (A4 LEF)
#15- 55ppm (A4 LEF)

BAAETM X SRA3(320x450 mm).

12x18"(305x457 mm). A3
FUYN/IE=/AF v / FAX
i FN R e /ADF (R B B oA )

ZER 5 &2

(B — AL EEAY AT IR E )
B=ERAE BE ST
S EBIREER

ISO14025(C it > AE E R UT Y DR LR EE

OAER WAL 5B
*Y2T LRIIAR B EARNORIOH AR, YATARIIATLEEED
ZEERH.

FUWEhES
ELTMIWLEIRZAM ) R-Vavratt
BETMAEXAGEHOWV6T B1E
https://www.fujifilm.com/fb/

Z#%&ES ¢ JR-AI-25092E-A


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOBRIESAIV IO s

E p D —— —RALEEAY AT H IR EHEE
SpEFY 14T NBEEE (EPD) T REXAHE-14-8
VERIELED KANDA SQUARE GATE
EHEs JR-AI-25092E-A https://ecoleaf-label jp
F1IVA IV EFMER
o . - R - HEfs
RETRERR | LSRR TR RS e BEEEERRS
28
S[REE - &t kg-CO2eq 3.45E+02 2.86E+01 3.53E+01 2.86E+02 1.51E+02
AV BHIE kg-CFC-11eq 3.85E-05 4.51E-08 2.62E-08 1.21E-05 3.32E-08
EREL kg-PO.3-eq 1.04E-02 1.18E-03 1.87E-04 1.64E-02 1.83E-04
iz E(d kg-SO2eq 9.34E-01 1.81E-01 6.02E-02 1.26E+00 1.64E-01
HALFEAEIIV kg-CzHseq 9.06E-03 6.23E-05 4.07E-04 2.65E-03 1.29E-03
FEYE RS - 54 kg-Sbeq 4.03E-01 9.91E-05 1.35E-05 1.51E-01 3.20E-05

179171 IRY IS REEER

—REROEMICEAT I

FREESE | WERE | oBSE E’?ﬁ'ﬁffﬁ BB
BEARE—XRER - IRIF- (RPRy) M) 6.95E+02 2.27E+02 9.71E+00 1.35E+03 7.20E+01
BEAE—RERE - TRVF-2EHE (RPRy) M) 1.39E+01 3.83E-03 2.52E+02 7.36E+02 1.36E-02
FEFLERE—RETR - TRILF— (NRPRp) M) 5.45E+03 9.46E+02 4.13E+02 6.48E+03 8.40E+02
EFETH—RER - TRE-2EHE (NRPR,) M) 9.48E+02 2.89E-01 2.83E+00 8.20E+02 1.76E-01
HRIKDHEEE m? 2.64E+00 2.47E-02 2.65E+01 7.84E+01 1.29E-02

HERRICEIZEMIER

-BAREEAFERELTEELELE,
EEMEPHR)DIZEEYFUATEELTVET,
S G OB E AR5 ER T,
-fEF - MR ICB T BEIRIA RO B H S EENE A,
FEABOENE, IRNF-AY-T0I 50 Ver3 284 (A->THELETECERTICEE LELE,
BE R, 451,20048 T,
1/4 x32 (YaJ/B) x47(#) x 5 (H) x4 (B) x 12 (v A) x 5 (5F) = 451,200 &
AERFRFHROERABFAERNSEIRLEBREBEFALTEY. EMHTEERRCSVTHEEBROBFEZERLTEELTVET,

Z D DIRE R EHIR
CIRNF-R5-FO0Y5LVer3.2 EE,

MRBSUMECEI T RS FEMELCEAI SRR

-8 (ERZS) Bify 15 CAS No. ERE
EEpki] 63 kg - -
Sus 1.1 kg - - -
TIVIZUL 0.85 kg
ZOftER 9.8 kg ERALEZRT-IDEZH
FI3AF9Y 42 kg . R ) _ . R
=T 019 " [REALL, LCIT-YR-RIDEA Ver3.4, SUMPOBRIEININTOIS L BT
- : 9 Ver1.165EALTVNES,
H3A 1.8 kg
- 9.0 kg
FEERE| AR 41 kg
2 iR 6.4 kg ET 1 2025511 825H
L) 59 kg HEERRM [ Additional explanation | D—#%ZE,

OT-YHENHEIE. PCRELVHEE - EERBESBL I,
OLLEKIIOVWTE, BE - EERBCAEINLRGEH LSS LLARDONF A,
(BER5URL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

